P-3407-A

Spring Counterbalance
Varies by door size and lift configuration.
i — .

% Aluminum
Interior Frame
Aluminum
R Exterior Frame
Z et Top
Section Door Height
g ——‘—— " Ubar, 18 ga é’: Ma8)('-(?]"8's-8'c')\:,|v§ing Glass Unit
‘ ‘ ‘ ‘ Ak "teT;\é%tFi)oer: ] 51" or 24" 1/4" Polycarbonate
' : ~=— Lite Section i .
i R N B N I (2) Self-drilling (1') Row Moy, Soctions sizest A Man L AL
i i i i g oeeeme S Soe e ian
location. i col- X 1o~ NI T —
¥ ¥ 1  orhigher. (24 x 12) - 25-15/16" x 10-7/8"
N N N N (DLO: 22" x 9-15/16")
o ToT TaT TaT | |ntermed|ate (24 X 8) - 22“ X 6"
ii ii ii ii Box S"”én?pgear L gherme (DLO: 21-1/16" x 5-1/16")
& & 2 & W solid section.
# ¥ ¥ ¥ B Centered. 47 Screw, #8 —
|| || || || (2) Self-drilling —~— Bottom (14) per 34x16 frame
screws per hinge Section (16) per 24x12 frame
H H H H location. ] (10) per 24x8 frame
L) L] L] L] éSttraga
——A Door width | claer
(202" shown) Section A-A ) Section C-C
) ) o O o O -~ n
Interior Elevation 015 min. steel skin, o ) oS e e T, s 1" Jamb lap
Top Fixtures interior & exterior. °ob V°c0° 0.6 %0 00 of Fastener
/ Cealon i e / g e eeg o
— / Detail on sht. 2 / Center Hinge Detail on sht. 2 ° ys yrene foam core. jamb types.

\ Detail on sht. 2

0

Self-drilling Screw sy Jamb Attachment
, g / / / Tt s o
) corner bracket ng
) BN N \\w//// \\«w Selfdriling Serew N | wood, steel or masonry (opt.)
| | \ Self-drilling Screw \ 6 6 (4) Per hingge (Sdfe)ll;;gr;lg?ng 2crew =g — “l e Vertical Track & Roller
~ -l P (3) Per tOp fixture ~ - / without ubar ~ Without ubgr < S ) : ‘ ‘ Nl ‘ : ’@/ 2:: shqwn
(5) Per hinge (5) Per hinge \—QP I 3" optional

Top Fixture Edge Hinge  with ubar Center Hinge  with ubar Corner Bracket Roller Keeper | | o ‘¥i Detail on sht. 2

Attachment Attachment Attachment Attachment 1/2" spacing to Double Edge Hinge
roller carrier. Section B-B All door widths
-7 T~ Hex Head Lag ST F— ~ Trussing omitted for clarity.
and Washer e Slide Lock
( O 6% E)2) Pkerttrack q O‘ Detail on sht. 2 Doors tested per
racke i 1 ANSI/DASMA 108 for static air pressure
R [ | | | . i t and li
\\\\\%\% . @//;”/, N @ Y Self-drilling Screw ANSI/DASMA 115 for impact and cyclic pressure
SOy, " @ Track Bracket | (4) Per EC200 / EC224
SN Qe ) ! slide lock
I N T Detail on sht. 2 Max. Max.
= B * *: Attach to track ‘ Section |Opening| Stiles Design Load
) ~ P N ~ - p g
B TF G — with trackc bolt ) Width | Width
R o and nu .
% Yo, o Track Bracket Slide Lock 20-2" | 200" | 4 26.3 | -29.3
Attachment Attachment
, Alternate mounting Req'd on doors
T P s o0 details on sht. 4 without operators. FL#41569
809 E, Znd Street, Do o 1021 Wind loaded sectional doors are designed, tested, and oo Nome o
Structural Adequacy for Wind Load sold by PSF. The AHJ of a given jobsite is responsible —— Spec, Wind Load
D by: J. Poitras h
= for determining the appropriate PSF. ey RAYNOR Raynor EnergyCore
a’d W&W gg?%;?%%fjlayg:cg%;s-Borg"gg' . . . Checkedby: ~ R. Frey 3
) . . Cqmplles with the Wind Load A |New release for production. 9064.01 06/11/24 | Date: 06/11/24 1101 East River Road Sheet Rev
Printed copies of this document are not considered signed and sealed and requirements of the IBC/IRC 2021 Dison, IL. 61021 No. P_3407
the SHA authentication code must be verified on any electronic copies. Rev. Description ECO Date ECO: 9064.01 10f4 A




P-3407-A

r1.43

T _
(U
§)D
D
0
>Q
2
0

18.50
1.33 — |

Jamb Angle

.078 Galv. Steel (14 ga.)

| e—]
| —

o
>
b

Center Hinge
.045 Galv. Steel (18 ga.)

\\\‘“/‘;””’/I

///
3 S/PO//’/

e 0,%,
.4 %

---------

/ A \
TN

Scott A. Brown, P.E. Lic. No. 65940
Willett, Hofmann & Associates, Inc.
809 E. 2nd Street, Dixon, IL 61021
FBPE CA Lic. No. 35415
Structural Adequacy for Wind Load
AT B

Date: 2024.06.14 17:

Installation Hardware

Min. 3.19
2.56 262 k [—4 F o
3.00 | —
IR H [
4.44 [ .
% ‘T ’ 3%)0 = >
. —
le=l—226 | [

Top Fixture

.086 Galv. Steel (13 ga.)

]j1 .96U

22 1 .
=iy 2.52 E 2.82
=\

T

Roller Carrier
.114 Galv. Steel (11 ga.)

2.84

Edge Hinge
.086 Galv. Steel (13 ga.)

Digitally signed by Scott A Brown

27:53-05'00"

Track Bracket
.116 Galv. Steel (11 ga.)

2.25 —t==—ny

Corner Bracket
.086 Galv. Steel (13 ga.)

Slide Lock

L Min.
oy r—
f @ 43—

2" Roller
Nylon 10-ball (Std.)
Steel 10-ball (Opt.)

D ﬁ’l.OS

2.11

r

2" Track
.055 Galv. Steel (16 ga.)

! =143

2.31

f

Min. 4.00

T

2" Angle Mount (Opt.)
.086 Galv. Steel (13 ga.)

L Min.

20 | —!

[ -

3" Roller
Steel 10-ball (Opt.)

o
3.18 E

}7

3" Track (Opt.)
.105 Galv. Steel (12 ga.)

=t 3.50

}7

Min. 5.00

.

3" Angle Mount (Opt.)
.086 Min. Galv. Steel (13 ga.)

1§

2.00 — ==t

Steel U-bar
.049 (18 ga) Galvanized
High Tensile Steel
80 KSI Min. Yield

2.61

Printed copies of this document are not considered signed and sealed and
the SHA authentication code must be verified on any electronic copies.

Track Splice Clips (Opt.)
.105 Galv. Steel (12 ga.)

‘ rmnéﬁ

Track Clips (Opt.)
.09 Galv. Steel (13 ga.)

2" Clip Angle (Opt.)
.086 Galv. Steel (13 ga.)

}7

4.50

I
<504 =

Steel Box Strut
.049 (18 ga) Galvanized
High Tensile Steel
80 KSI Min. Yield

Fasteners & Small Hardware

1/2" ——1 3/4" ——=
B @W o

Hex Head Lag Screw
Wood jambs, all jamb attachments.
Install with supplied washer.
Spacing & embedment specifications on sht. 4

172"

5/16" x 1-1/4" Self Drilling Screw
Angle mount to steel jambs.
Spacing & embedment specifications on sht. 4

@ 59"

Track Bolt & Serrated Hex Flange Nut
Attach track to jamb attachment with track bolt and
hex flange nut. (1) each required per punch.

(2) Track bolts and (2) nuts connect top fixture and
roller carrier.

1/4"

3/8"
@ .50"

1/4" x 7/8" Self Drilling Screw
Attach hardware to sections.
Quanity & location on sht. 1 elevation details.

04" —o{|a— 06" —»| |=—

@ .88"
@ 40"

@ .86"
@ .37"

Roller Keeper
(1) per roller.
Install at 1/2" space to roller carrier.
Ref. Section B-B on sht. 1

Washer
(1) per hex head lag

Scale: None

Title:
Drawn by: J. Poitras h Rii)/ﬁg,r \évég?gl;%%dre
Checkedby: ~ R. Frey RAI Non.
Date: 06/11/24 1101 East River Road Sheet Rev
Dixon, IL. 61021 No. P-3407
ECO: 9064.01 2 A




P-3407-A

Jamb Fasteners

Opening
Height

Max. on center
spacing

i
\\\\\ o ll/,,///
: S/P ‘,
O arereeens, o}}/,//
.
g %

---------

/ A \
TN

Scott A. Brown, P.E. Lic. No. 65940
Willett, Hofmann & Associates, Inc.
809 E. 2nd Street, Dixon, IL 61021
FBPE CA Lic. No. 35415
Structural Adequacy for Wind Load

Ly
"[’T 5 Digitally signed by Scott A Brown
Date: 2024.06.14 17:28:17-05'00"

Printed copies of this document are not considered signed and sealed and
the SHA authentication code must be verified on any electronic copies.

Front Elevation

Side Elevation

o
/ .
0
% A
\ Horizontal Member w = Jamb Attachment:
) ﬁ I Jamb Angle
Masonry jambs: 19" (2) Lags & Washers req'd
Treated 2x6 ]
Wood jambs: g | E)
Untreated 2x6 2" Min. ||
No load from wind applied 18" Max. | =
o load from wind applie .
to horizontal member. | ljrarlg;i gtr’fgﬁeTent.
I (2) Lags & Washers req'd
[
Vertical Member ]
Masonry jambs: |
Treated 2x6 #2 Douglas Fir or better. , B
‘ Opening
Wood jambs: , Height
. Vertical Track I
Untreated 2x4 #2 Douglas Fir or better. Length I
[
£l b
! Maximum Jamb
] 18" Attachment
] On Center
I Spacing
| b9
| e
[
1 L]
Track Bracket
Opening To Wood Jambs
Width
2x6 Attachment to Structure
Structure Fastener Type Minimum | Minimum Edge| Minimum on Maximum on Allowable
Type Embedment Distance Center Spacing | Center Spacing | Tension Load
" 1/4" Tapcon+ (Plus) " " "
2500 PSI Min. Concrete | "y o' op e o 2 2.5 6 23 526
Southern Pine with i’f/;,’fg't)"s\?asher 1.50" 1.50" 1.50" 24" 655
Spruce Pine Fir | . 13/ ?;8’,‘, gcl;pv@ sher| 150" 1.50" 1.50" 21" 482
1. Maximum Positive Load per Jamb = (20'-2" x 26.3 PSF) / 2 = 266 Ibs. per foot.
2. Maximum Negative Load per Jamb = (20'-2" x -29.3 PSF) / 2 = 296 Ibs. per foot.
3. Design of the supporting structure shall be the sole responsibility of the building
designer and shall be designed for the jamb loads listed in notes 1 and 2.
4. DASMA Technical Data Sheet TDS-161 may be used for alternate jamb attachments.
Alternate jamb attachments may be used if approved by a registered Professional Engineer.
5. 3/8" diameter lag screws required 1/4" pilot hole and 1-1/2" minimum required distance. Scale: None Title: _
6. Masonry fasteners by others. Drawn by: J. Poitras N—— Spec, Wind Load
7. Garage doors evaluated as attached to enclosed buildings. P— RAYNOR. Raynor EnergyCore
8. Garage doors evaluated as components and clading. A
Date: 06/11/24 110‘! East River Road No P 3407 Sheet Rev
ECO: 9064.01 oo I 01021 ' - 3 A




P-3407-A

Angle Mount
to Structure:
Wall Leg Spacing

Not To
Exceed
O.C.
Spacing

O.C.
Spacing

/ A \
TN

Scott A. Brown, P.E. Lic. No. 65940
Willett, Hofmann & Associates, Inc.
809 E. 2nd Street, Dixon, IL 61021
FBPE CA Lic. No. 35415
Structural Adequacy for Wind Load

ST B

Angle Mount
to Structure:
Track Leg Spacing

Alternate Fastener

Clip Angle
to Structure:

Clip Angle
to Structure:

Wall Leg Spacing Track Leg Spacing

Charts
— Angle Mount . 17l
Minimum Minimum Edge Maximum on| Allowable 7
Jamb Type Fastener Type Embedment| _. R 9 Center Tension Load
X Distance (in.) K .
/ (in.) Spacing (in.) (Ibs.) o /
— 3/8" ITW Trubolt 2-1/2" 2-1/2" 36" 893
1/4" Tapcon+ (Plus) with N " N " =
_ 2500 PSI Min. Concrete 1-1/8" OD Washer 2 1-5/8 18 687 20" | |4 =)
1/4" x 2-5/8" Screw-Bolt+ with " " "
T 516" Ob Washor 2:1/2 1-1/2 18 651 i =
5/16" x 1-1/4" SAE J78, Min. =
1 n Ll " - " "
8 Steel AISI 1022 with 5/16" Washer | 10 112 % on
Wood 5/16" x 1-3/4" Lag with 5/16 1-1/2" 112" 19" 352
. Washer 04"
Grout Filled CMU Block 3/8" Simpson Titen HD 2-3/4" 4" 18" 480 24"
Alternate fasteners may be used if approved by a registered Professional Engineer.
18"
=
Clip Angle D
Obenin ] Minimum | _ Maximum on| Allowable Openin
}-Fl)eightg Jamb Type Fastener Type Embedment MDmsItrz ::; Eﬂge Center Tension Load }-Fl)eightg "
& (in.) : (n) | Spacing (in.)|  (Lbs.) o4n 24
3/8" ITW Trubolt 2-1/2" 2-1/2" 24" 893
1/4" Tapcon+ (Plus) with " Eqn "
_ 2500 PSI Min. Concrete 1-1/8" OD Washer 2 1-5/8 24 687 =
1/4" x 2-5/8" Screw-Bolt+ with " " " =
9/16" OD Washer 2-1/2 1-1/2 24 651
Y 5/16" x 1" SAE J78, Min. AISI " _qjom "
18 Steel 1022 with 5/16" Washer 3/16 1-1/2 24 971 o4e
Wy 1.2/4" : N " 0
Wood 5/16" x 1-3/4 Lag with 5/16 1-1/2" 1-1/2" * Q" 352 24
_ Washer
Grout Filled CMU Block 3/8" Simpson Titen HD 2-3/4" 4" *12" 480
" Alternate fasteners may be used if approved by a registered Professional Engineer. i
12 *Fi e : 12
8" ield drilling required =
! i 2" +
% All Jambs
24" O.C. Supplied
Minimum Edge Minimum Edge
] M Distance ] M Distance
~=——-Jamb Material ~=——-Jamb Material
| | | | Ref. Alternate Fastener | | | | Ref. Alternate Fastener
| L Angle Mount Chart | L Clip Angle Chart
T Ea =1 T — =
Minimum Minimum — .gq
Embedment { Embedment
Fastener I Fastener
Ret ﬁj Ref. f L\
Alternate Fastener Alternate Fastener —— j]
Angle Mount Chart Clip Angle Chart
Min. 1" —-— Min. 1" ——
Angle Mount To Structure Clip Angle To Structure
2" Angle Shown 2" Angle Shown
Leg-in solid, leg-out dashed Leg-in solid, leg-out dashed
3" AVaIIable 3" AVa”abIe Scale: None Title:

Digitally signed by Scott A Brown
Date: 2024.06.14 17:28:42-05'00"

Printed copies of this document are not considered signed and sealed and
the SHA authentication code must be verified on any electronic copies.

Drawn by: J. Poitras

Checked by:

R. Frey

Date: 06/11/24

ECO: 9064.01

I e
RAYNOR

1101 East River Road
Dixon, IL. 61021

Spec, Wind Load
Raynor EnergyCore

Sheet

No. P-3407 4




		2024-06-14T17:27:28-0500
	Scott A Brown


		2024-06-14T17:27:53-0500
	Scott A Brown


		2024-06-14T17:28:17-0500
	Scott A Brown


		2024-06-14T17:28:42-0500
	Scott A Brown




